

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:1 of 4

ADJUSTMENT ON REPAIR COST FOR VEHICLE NO. PC 5589E

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	REPLACEMENT OF PARTS			
1	REAR SIDE PANEL LH	BUCKLED	1,984.00	1,984.00
1	REAR SIDE INNER PANEL LH	TO REPAIR SEE LABOUR	1,620.00	-
1	REAR SIDE INNER LOWER PANEL LH	TO REPAIR SEE LABOUR	654.20	-
1	REAR SIDE INNER LOWER CORNER PANEL LH	TO REPAIR SEE LABOUR	879.40	-
1	REAR SIDE PANEL INNER TRIM LH	DEFORMED	324.20	324.20
1	REAR SIDE PANEL AIR VENT LH	DEFORMED	86.30	86.30
1	REAR BUMPER	DEFORMED	479.00	479.00
3	REAR BUMPER BRACKET @\$21.80	NOT NECESSARY	65.40	-
2	REAR BUMPER SIDE RETAINER @\$55.00	NECESSARY	110.00	110.00
2	TAIL LAMP @\$390.00	N/S SMASHED / O/S CRACKED	780.00	780.00
1	TAILLAMP PANEL LH	DENTED	594.90	594.90
1	TAILLAMP INNER PANEL LH	TO REPAIR SEE LABOUR	587.10	-
1	TAILLAMP PANEL INNER TRIM LH	CRACKED	186.70	186.70
2	TAILLAMP LOWER GARNISH @\$167.00	N/S DEFORMED	334.00	167.00
2	TAILLAMP LOWER GARNISH RETAINER @\$65.00	NOT NECESSARY	130.00	-
1	TAILGATE	DISTORTED	2,054.30	1,855.00
1	TAILGATE 3RD BRAKE LIGHT	NOT NECESSARY	243.10	-
1	TAILGATE WIPER BLADE	CUT	58.70	58.70
1	TAILGATE WIPER ARM	CUT	65.20	65.20
1	TAILGATE WIPER MOTOR	DAMAGED	430.10	430.10
1	TAILGATE WIPER MOTOR HEAD COVER	MISSING	32.60	32.60
1	TAILGATE WIPER NOZZLE	NOT NECESSARY	28.90	-
1	TAILGATE DETECTER	NOT NECESSARY	398.70	-
1	TAILGATE DETECTOR WIRE HARNESS	NOT NECESSARY	587.40	-
1	TAILGATE EMBLEM 'G.L'	NECESSARY	54.10	54.10
1	TAILGATE EMBLEM 'HIACE'	NECESSARY	73.60	73.60
1	TAILGATE CENTER MOULDING (CHROME)	CUT	674.80	364.00
1	TAILGATE OUTER HANDLE	NOT NECESSARY	398.10	-

Report Ref No. CS/INC22005464/Avy3e2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:2 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
2	TAILGATE CORNER INNER GARNISH @\$36.20	NOT NECESSARY	72.40	-
1	TAILGATE STOPPER	NOT NECESSARY	28.00	-
1	TAILGATE INNER TRIM (TOP)	CRACKED	271.80	271.80
1	TAILGATE INNER TRIM (LOWER)	CRACKED	481.30	481.30
1	TAILGATE WEATHERSTRIP	CUT	395.00	395.00
1	TAILGATE WEATHERSTRIP PROTECTOR	DEFORMED	485.20	485.20
1	TAILGATE CENTER LOCK MOTOR	DAMAGED	395.30	395.30
1	TAILGATE INNER LOCK	DAMAGED	475.60	398.00
1	TAILGATE LOWER LOCK	BENT	45.20	45.20
2	TAILGATE DAMPER @\$127.40	NOT NECESSARY	254.80	-
2	TAILGATE HINGE @\$62.90	NOT NECESSARY	125.80	-
1	TAILGATE WINDSCREEN GLASS	SHATTERED	1,254.20	1,254.20
1	REAR SAFETY BELT LH	NOT NECESSARY	657.20	-
1	REAR SAFETY BELT RH	NOT NECESSARY	657.20	-
1	REAR SEAT LH	NOT NECESSARY	2,671.80	-
1	REAR SEAT RH	NOT NECESSARY	2,671.80	-
1	REAR END PANEL (INNER)	DENTED	1,043.20	897.00
1	REAR END PANEL (OUTER)	DENTED	698.40	698.40
1	REAR END PANEL (EXTEND) LH	DENTED	497.70	497.70
1	REAR END INNER SUPPORT MEMBER LH	TO REPAIR SEE LABOUR	426.80	-
1	REAR FLOOR PANEL MAT	NOT NECESSARY	865.30	-
1	REAR CHASSIS FRAME LH	TO REPAIR SEE LABOUR	542.60	-
1	TAILGATE LOGO	NECESSARY	75.20	75.20
	LESS 25% DISCOUNT		-7,251.65	-3,384.93
			21,754.95	10,154.77
1	REVERSE CAMERA (SN)	DAMAGED	1,811.60	580.00
	LESS 25% DISCOUNT		-452.90	-
			1,358.70	580.00
	SPECIAL NETT ITEMS			
1	REAR NUMBER PLATE (SN)	DEFORMED	80.00	50.00

Report Ref No. CS/INC22005464/Avy3e2



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:3 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
1	SET REAR BUMPER CLIP (SN)	NECESSARY	80.00	30.00
1	REAR BUMPER CARBON FIBRE TOP PROTECTOR (SPECIAL TYPE) (SN)	CRACKED	350.00	200.00
1	REAR SIDE PANEL SEALANT LH (SN)	NECESSARY	150.00	60.00
1	REAR SIDE INNER PANEL SEALANT LH (SN)	NOT NECESSARY	150.00	-
1	REAR SIDE INNER LOWER PANEL LH SEALANT (SN)	NOT NECESSARY	80.00	-
1	SET REAR SIDE PANEL INNER TRIM CLIP LH (SN)	NECESSARY	60.00	30.00
1	REAR SIDE PANEL GLASS SEALANT LH (SN)	NECESSARY	80.00	40.00
1	REAR SIDE PANEL GLASS INNER SEAL LH (SN)	NECESSARY	60.00	30.00
1	SET TAIL LAMP CLIP (SN)	NECESSARY	60.00	20.00
1	TAILLAMP PANEL SEALANT LH (SN)	NECESSARY	60.00	20.00
1	SET TAILLAMP LOWER GARNISH CLIP (SN)	NECESSARY	40.00	10.00
1	TAILGATE CENTER MOULDING 'EMERGENCY DOOR' STICKER (SN)	NECESSARY	50.00	20.00
1	TAILGATE 'PULL TO OPEN' STICKER (SN)	NECESSARY	50.00	20.00
1	SET TAILGATE INNER TRIM CLIP (SN)	NECESSARY	80.00	30.00
1	TAIL GATE SIDE LINE (SPECIAL TYPE) (SN)	NECESSARY	200.00	100.00
1	TAILGATE WINDSCREEN SEALANT (SN)	NECESSARY	80.00	40.00
1	TAILGATE WINDSCREEN INNER SEAL (SN)	NECESSARY	60.00	30.00
1	TAILGATE WINDSCREEN GLASS COMPANY LOGO (SPECIAL TYPE) (SN)	NECESSARY	150.00	40.00
1	TAILGATE WINDSCREEN GLASS COMPANY NAME (SPECIAL TYPE) (SN)	NECESSARY	200.00	50.00
1	TAILGATE WINDSCREEN GLASS CONTACT NUMBER (SPECIAL TYPE) (SN)	NECESSARY	100.00	30.00
1	TAILGATE STICKER '70KM/H' (SN)	NECESSARY	30.00	10.00
1	REAR END PANEL (OUTER) SEALAN (SN)	NECESSARY	150.00	40.00
1	REAR END PANEL (INNER) SEALANT (SN)	NECESSARY	150.00	40.00
1	REAR END PANEL (EXTEND) SEALANT LH (SN)	NECESSARY	80.00	30.00
1	REAR FLOOR TOP WOODEN BOARD (SPECIAL TYPE) (SN)	NOT NECESSARY	1,200.00	-
1	VIDEO RECORDER (SN)	DAMAGED	850.00	450.00
			4,680.00	1,420.00



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933

TEL: 6256 3561 FAX: 6256 4315

Reg. No: 199607198R GST Reg. No. 19-9607198-R

Page No.:4 of 4

Qty	Description of Parts	Condition	Estimate By Workshop (\$))	Our Adjusted (\$)
	LABOUR			
	PANEL BEATING AND REPLACE PARTS. INCLUSIVE OF THE REPAIR OF REAR SIDE INNER PANEL LH, REAR SIDE INNER LOWER PANEL LH, REAR SIDE INNER LOWER CORNER PANEL LH, TAILLAMP INNER PANEL LH, REAR END INNER SUPPORT MEMBER LH AND REAR CHASSIS FRAME LH.		2,800.00	1,500.00
	SPRAY PAINTING TO AFFECTED AREA.		2,200.00	1,400.00
	WIRNING, BULB CHECKING.		250.00	30.00
	REMOVE AND REFIX CUSHION SEAT / UPHOLSTRY AND ROOF LINNING TO FACILITATE REPAIR.		650.00	100.00
	TRANSFER TAILGATE MECHANISM.		80.00	80.00
	REMOVE AND REFIX TAILGATE WINDSCREEN.		150.00	120.00
	CONDUCT WATER LEAKAGE TEST.	NOT NECESSARY	120.00	-
	REMOVE AND REFIX SIDE PANEL GLASS LH.		150.00	80.00
	REAR CHASSIS ALIGNMENT.	NOT NECESSARY	250.00	-
	REMOVE AND REFIX REAR REVERSE CAMERA.		80.00	50.00
	REMOVE AND REFIX VIDEO RECORDER.		80.00	50.00
	REMOVE AND REFIX FLOOR BOARD.	NOT NECESSARY	480.00	-
	REMOVE AND REFIX FUEL TANK TO FACILITATE FLOOR PANEL REPLACEMENT.	NOT NECESSARY	100.00	-
	REMOVE AND REFIX REAR SIDE PANEL RAILWAY LH.		180.00	40.00
	REMOVE AND REFIX SLIDING DOOR LH.	NOT NECESSARY	180.00	-
	VACUUM AND CLEAN REAR WINDSCREEN GLASS SPLINTER.		250.00	80.00
	TO CHECK DIAGNOSTIC OF VEHICLE MANAGEMENT / CONTROL UNITS, RESET MEMORIES TO SPECIFICATION ETC.	NOT NECESSARY	180.00	-
			8,180.00	3,530.00
	GRAND TOTAL		35,973.65	15,684.77

RECOMMENDED COST OF LUMP SUM REPAIRS	12,500.00
(TO ITS PRE-ACCIDENT CONDITION) (CONFIRMED)	

Report Ref No. CS/INC22005464/Avy3e2

XXX.

ADRIAN LING WAI PING

B.Eng, AMSOE, AMIRTE, AMSAE-A, M. MATAI

1

K.K.LAU CPT(RET)

BEng(Hons),B.Bus,MBA,PEng,PE, MInstAEA,MASME,MIRTE

REGD Auto Consultant-SAE, Licensed Appraiser

Licensed Appraiser

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of responsibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.